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. B2|™ol & x Z™X| B 1: x= best estimate + error = X, £ 5X
v sxe ME| A2t BHE (0l: 50%, 68%, 95%)
vox= SBax}t 1-2702 BT
v %est O] OFX|9} 82 A= KX €2 37
= 92.5+0.3, 9343, 90+30, (1.61+0.05)x10™° C

v AL %} X = 50x1cm or 50 cm*2%

» Aiholl= S BE=t 7tse R EALELL StLt I AHE

« ESHMIZF AKX 40x5Q & 428 Q) versus 352 Q & 4511 Q)
v 3295 m/sg Bt=xgtalel =7 (Y%l 2= 331 m/s)
v p =149+0.04 kg-m/s & p, =1.56+0.046 kg-m/s :2SEF H=

ofELyS T
AJOU UNIVERSITY

Department of Energy Systems |

> AI/J‘&
>
& 3
S
st

o
5
Q
&)
=
=z




QXS] i} - 1

E 3 Z4 7l.
° :ICBI EJ—-I'I-- Xbesti§X1 ybesti5y’“" l"Ibestiau”"" Vbesti5V
v El'jl_l- xl- g= X+ y+---+Z—(U+V+"'+W) = qbestiaq

qbest — Xbest + ybest Feeet Zbest _ (ubest + Vbest +eeet Wbest)

0=0X+0Yy+--+07+0U+0V+---+0oW

— L XX YX-eeXZ oq.
v -é,—o|-7|2|- LI-_I_7I q_ UXV X X W = qbest(li‘qbest‘)
qb — Xbest X ybest ><°“><Zbest
- ubest vaest ><°°°><Wbest
oQ _ O X N oy ey 0z . ou N oV +m+é‘_w
‘qbest‘ ‘Xbest‘ ‘ybest‘ ‘Zbest‘ ‘ubest‘ ‘Vbest‘ ‘Wbest‘
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v =X Zal 27| AL q=Bx = g, 59
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qbest = BXbest & 5q = |B|5X

n 5
‘/ xI_JIK_-o;P_JIk_ q= X = qbest(li‘q q ‘)

best

ac

oQ O X £

_ n — ()

Qbest Xbest & ‘q ‘ = ‘X ‘ §

best best ()]

Example: X} 340l £0| FEC 2 B H THI|ISE 57| 2
h—lgtz = g—2_h S .
2 t 5 S
£0
2h &S
gbest _ best, 5g _ 5h +2 5t D%

— 2— —
1:best ‘ g best ‘ ‘ hbest ‘ ‘ 1:best ‘
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- Z&A (independent or random) 2X}:

\/ q=X+yEI'E qbest=Xbest+ybest0|n:I OE“EI_I-I—-IIEE 5QS5X+5y

2 Al/_‘.&
>
A 3

<%

v 2EQ| QXIS e x9} yo| UL YFEEES M0,

0] AL9| QK= 5q=1/(6X)° +(6Y)

v 'c',='I|-I|_I. xl. =X+ y+---+Z—(U+V+'"+W) — qbestié‘q

qbest — Xbest + ybest +eeet Zbest _ (ubest +V +eeet Wbest)

best

50 =J(5X)? +(8Y)? 4+ (52)> + (SU)? +(OV)? +---+ (6W)?
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v sfLtel o olEsE el B4 A= 100 = Gu=T(x.) 58
i5q = f(Xbest —5X) f(XbeSt)z (
. 0Q= £5X
dx

Example 1: (=c0sf & 0=20+3°

6q = |;—9(cos 0)|660 = sin 6|66 =|sin(20°)|x 0.05 rad = 0.34x0.05 = 0.02

.. q=0.94+0.02

Example 2: = x (m can be any number: fraction and negative)
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q — g(X, y,”',Z) = qbest = g(xbest’ ybest"”’zbest)

2 2 2
oq = (a_g5X) + 6_95y +...+(a_ggz)
OX oy 0z
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DXt oXto| EHH £A-
« 29| 2Xl(random error)= SAXMCE CIE + AoL
HAX 2X}(systematic error)= SAH X 2|7l 2715
- FEIR| X QICHH 2| »2| HtEE 538 Zils 712
ot+2 B9 |._ S 2 X (normal distribution)S [}2C}
. 714 St 242t 828 (peak) Xt 2 LIEIH= 18 o
F708] parameter2 “d2| EIC}.
1 210 2
f(X)= e W2t ma ol BM 22 B HThe Ho|sy| £ S}
u,a( ) O'\/Z 2! c
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29| x| EHH 242

Bt =25 MGE= 2| 538 Zuf9| e2 40|LCt.
X=Lo xf, ,(X)dx=u
Bt =25 MGE= x| 58 a9l £42 20|C}.

ol =" (x=%x)"f,,(X)dx=0"

O] 4% Tt Z-A0| Hitat E=HA} O[Lie| HY| 4 + o0 A
L2 SHE0| 68.3%0|MH, u+ 202 u+ 302 H| QoA L}
S22 2+ZF 95 4%} 99.7%0| L}
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A% A2 SAH £4-3
A

g TES ME= X2 58 24 N2 B=0| Tét ol
st &| 40| 2 %| o]t
Principle of maximum likelihood

1
:ubest=x=ﬁzxi for {Xl’XZ’”.’XN}
=1

o

A Hpopulation)2] EEMA} 50| T 2|4ke] FHX| =

0| F &9 FEA|(HE=Z #=HAHE CHA|

1 & “improved” standard deviation
O, = —Z(Xi —X)*  of the N measured values
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